

CERTIFICATE OF ORIGIN

ORIGINAL

TO VALIDATE, GO TO **VERIFY.FTGS.US** Certificate Number: BA-COO-63711-68a740900cea7

Date: August 21, 2025

Seller (Exporter) Southeast auto finance Ilc 144 Allred Road	Transport Type Air	Port of Loading Atlanta Airport
Lincoln AL USA	Destination Country United Arab Emirates	Destination Port Abu Dhabi International Airport
Consignee	Export Date ************************************	Exporting Carrier **********************************
Supreme Trading Company Sole Proprietorship LLC P.O. Box 24474 Al Ain Industrial Area	Import Permit Number	Bill of Lading / AWB
Al Ain United Arab Emirates	Owner or Agent	Forwarding Agent ************************************

Remarks

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Air filter #53034051-AB	4.08 kg	United States
H.S.Code: 8421.39		
AIR FIRE #53034051-AB H.S.Code: 8421.39 ABSORBER SUSPENSION #68450203- AB	21.77 kg	United States
ABSORBER SUSPENSION #68450203- AB		
68450203- AB		
I.S.Code: 8708.80		
Stabilizer bar #68020464-AC	2.72 kg	United States
.S.Code: 8708.99 CERTIFICATE OF ORIGIN		
HAFT DRIVE Accredited Chamber US2200501	13.6 kg	United States
68312646- AE		
I.S.Code: 8708.50.85		
MODULE ANTI-LOCK	0.9 kg	United States
#68477878- AF I.S.Code: 8708.30	MAN MANTHATA	
H.S.Code: 8708.30	N N N N DATA DATA	
HAMREDS FEDER		

Name of Authorized Trade Association



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Birmingham Business Alliance
- ("BBA") is accurate, true and complete.
- The Applicant undertakes to advise BBA and any other person(s) to whom the applicant provides this -The Applicant indentates to advise BbA and any other person(s) to whom the Applicant provides the Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
 -In consideration for the BBA's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless BBA from any liability in connection with the issuance of this certificate and to indemnify BBA in respect of any costs and/or claims made against BBA in connection herewith. The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN

ORIGINAL

TO VALIDATE, GO TO **VERIFY.FTGS.US** Certificate Number: BA-COO-63711-68a740900cea7

Date: August 21, 2025

Seller (Exporter) Southeast auto finance llc 144 Allred Road	Transport Type Air	Port of Loading Atlanta Airport
Lincoln AL USA	Destination Country United Arab Emirates	Destination Port Abu Dhabi International Airport
Consignee	Export Date ************************************	Exporting Carrier **********************************
Supreme Trading Company Sole Proprietorship LLC P.O. Box 24474 Al Ain Industrial Area	Import Permit Number	Bill of Lading / AWB
Al Ain United Arab Emirates	Owner or Agent	Forwarding Agent

Remarks

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
ABS CONTROL MOD #68453771-AC H.S.Code: 8708.30	2.72 kg	United States
BS CONTROL MOD 68453771-AC I.S.Code: 8708.30 BRAKE PAD FRONT 1BP00275-AA I.S.Code: 6813.81.00	31.75 kg	United States
BELT SERPENTINE #5281817-AA CERTIFICATE OF ORIGIN	2.72 kg	United States
Accredited Chamber US2200501 #IBP01966-AA	3.26 kg	United States
H.S.Code: 4010.39.99 WIPER BLADE FRONT #55277446-AC H.S.Code: 8512.40	2.26 kg	United States

Name of Authorized Trade Association



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

-The information in this certificate and in any documents provided to the Birmingham Business Alliance

("BBA") is accurate, true and complete.

The Applicant undertakes to advise BBA and any other person(s) to whom the applicant provides this -The Applicant indentates to advise BbA and any other person(s) to whom the Applicant provides the Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
-In consideration for the BBA's issuance of this Certificate, the Applicant agrees to release, discharge and hold

harmless BBA from any liability in connection with the issuance of this certificate and to indemnify BBA in

respect of any costs and/or claims made against BBA in connection herewith. The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN

ORIGINAL

国北 2025 国

TO VALIDATE, GO TO **VERIFY.FTGS.US** Certificate Number: BA-COO-63711-68a740900cea7

Date: August 21, 2025

Seller (Exporter) Southeast auto finance llc 144 Allred Road	Transport Type Air	Port of Loading Atlanta Airport
Lincoln AL USA	Destination Country United Arab Emirates	Destination Port Abu Dhabi International Airport
Consignee	Export Date	Exporting Carrier
Supreme Trading Company Sole Proprietorship LLC P.O. Box 24474 Al Ain Industrial Area	Import Permit Number	Bill of Lading / AWB
Al Ain United Arab Emirates	Owner or Agent ************************************	Forwarding Agent ************************************

Remarks

iption include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin

Description (May include notes of	n Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Shock Absorber		23.81 kg	United States
#68465565-AA	CHAMBED		
H.S.Code: 8708.80	JONAL		
Damper Steering	Least Artion Connection of Con	10.88 kg	United States
#4877184-AA			
H.S.Code: 8708.94	AND THE PART OF COMMENTS OF CO		
AIR FILTER CABIN		1.81 kg	United States
#68535623-AA	CERTIFICATE OF ORIGIN		
H.S.Code: 8421.39			
Fuel Filter		4.08 kg	United States
#68436631-AA	X		
H.S.Code: 8421.23			
Engine Filter	20 PLO CHAMBERS FEDERATION	2.72 kg	United States
#5083285-AA	ORIO CHAMBERS FEDERATION	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
H.S.Code: 8421.23	WAMBERS FEDER		

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: Name of Authorized Trade Association The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

-The information in this certificate and in any documents provided to the Birmingham Business Alliance



("BBA") is accurate, true and complete.

The Applicant undertakes to advise BBA and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the BBA's issuance of this Certificate, the Applicant agrees to release, discharge and hold

harmless BBA from any liability in connection with the issuance of this certificate and to indemnify BBA in respect of any costs and/or claims made against BBA in connection herewith. The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN

ORIGINAL

TO VALIDATE, GO TO **VERIFY.FTGS.US** Certificate Number: BA-COO-63711-68a740900cea7

Date: August 21, 2025

Seller (Exporter) Southeast auto finance llc 144 Allred Road	Transport Type Air	Port of Loading Atlanta Airport
Lincoln AL USA	Destination Country United Arab Emirates	Destination Port Abu Dhabi International Airport
Consignee	Export Date	Exporting Carrier **********************************
Supreme Trading Company Sole Proprietorship LLC P.O. Box 24474 Al Ain Industrial Area Al Ain	Import Permit Number	Bill of Lading / AWB
United Arab Emirates	Owner or Agent	Forwarding Agent ************************************

Remarks



Description (May include notes of	on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Filter Fuel		4.08 kg	United States
#68157291-AA	NI CHAMBER		
H.S.Code: 8421.23	10MAR OF C		
Air Compressor	COMMER OF COMMERCE	6.93 kg	United States
#57009571- AA			
H.S.Code: 8414.30	3		
Air cleaner body #68	321026AE	3.62 kg	United States
H.S.Code: 8421.39	CERTIFICATE OF ORIGIN		
	Accredited Chamber US2200501		
	ZORILD CHAMBERS FEDERATION		

Name of Authorized Trade Association



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

-The information in this certificate and in any documents provided to the Birmingham Business Alliance

("BBA") is accurate, true and complete.

The Applicant undertakes to advise BBA and any other person(s) to whom the applicant provides this -The Applicant indentates to advise BbA and any other person(s) to whom the Applicant provides the Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
-In consideration for the BBA's issuance of this Certificate, the Applicant agrees to release, discharge and hold

harmless BBA from any liability in connection with the issuance of this certificate and to indemnify BBA in

respect of any costs and/or claims made against BBA in connection herewith. The Applicant is authorized to give the undertakings set out herein.

SOUTHEAST AUTO FINANCE LLC

429 GREEN SPRINGS HWY STE 161 APT 512, Birmingham, AL, 35209, USA Phone: 205-997-4182 | Email: SALAMALSAIDI518@YAHOO.COM

COMMERCIAL INVOICE

Consignee (Receiver):

Supreme Trading Company Sole Proprietorship LLC P.O. BOX 24474, AL AIN INDUSTRIAL AREA AL AIN, UNITED ARAB EMIRATES

Phone: +971-3-7214296 | Email: INFO@STC-AE.COM

Invoice Number: 001 Invoice Date: 18-Aug-2025 Country of Origin: USA Country of Destination: UAE

Incoterms: Ex-Works Currency: USD

Item	Description	HS Code	Qty	Unit Price (USD)	Total Value (USD)
1	Air Cleaner #68321026-AE	8421.39	1	358.50	358.50
2	Absorber Suspension #68450203-AB	8708.80	8	217.25	1738.00
3	Link Kit #68020464-AC	8708.99	2	59.06	118.12
4	Shaft Drive #68312646-AE	8708.50.8500	1	644.75	644.75
5	Brake Pad Front #1BP00275-AA	6813.81.00	8	63.50	508.00
6	ABS Control Module #68453771-AC	8708.30	1	683.50	683.50
7	Module Anti-Lock #68477878-AF	8708.30	1	381.00	381.00
8	Belt Serpentine #5281817-AA	4010.39.99	4	71.31	285.24
9	Belt Serpentine #1BP01966-AA	4010.39.99	4	31.00	124.00
10	Shock Absorber #68465565-AA	8708.80	8	171.00	1368.00
11	Wiper Blade Front #55277446-AC	8512.40	8	30.63	245.04
12	Damper Steering #4877184-AA	8708.94	4	277.25	1109.00
13	Air Filter Cabin #68535623-AA	8421.39	4	26.75	107.00
14	Engine Filter #5083285-AA	8421.23	4	19.32	77.28
15	Fuel Filter #68436631-AA	8421.23	4	70.01	280.04
16	Filter Fuel #68157291-AA	8421.23	4	107.89	431.56
17	Automotive Air Filter #53034051-AB	8421.39	4	32.20	128.80
18	Air Compressor #57009571-AA (+ core \$50)	8414.30	1	616.00	616.00
	TOTAL				9203.83
	Service Charge				1000.00
	GRAND TOTAL				10203.83



I hereby certify that the information provided on this invoice is true and correct and that the contents are as described above.

SEAL

2020

ALABAMA

A N M O

Signature: Verified by pdfFiller 08/20/2025

Company Stamp:

Name & Title: SALAM ALSAIDI OWNER

Date: 18-Aug-2025

